English 2018

1. What are Planets?

(a) Huge and Remarkable (b) A small Piece

(c) A heavenly body that rotates round the sun. (d) Having great energy.

2. What is the meaning of Peril'?

a) Expulsion (b) Teeth (c) Useless (d) Danger

3. Who has written the poem 'Sweet are the uses of adversity'?

(a) William Blake (b) William Shakespeare (c) Robert Frost (d) Emily Bronte

4. Who was the Shylock in' The Merchant of Venice?

(a)The Miserly Crafty Jew  (b) Portia's assumed hame

(c) A Merchant of Venice (d) Bassanio's Wife

5. Who has written the chapter the 'The Dying Detective’ ?

(@) O' Henry (b) Ella Adkins(c) Arthur Conan Doyle (d) Ambrose Bierce

6. Thereisn't............. sugar in the bowl (Use Preposition)
(a)Some (b) Any (c) Lesser (d) a
T, you live long! (Use Modal)

(a) Could (b) May (c) Must (d) Will

8. 'A Gala day' (Give the meaning of Idiom)

(a)A day of success (b) A day of Merry making

(c) An eventful day  (d) A day of significance

9. The waiter filled the glasses with water. (Change the voice)
(a) The glasses filled with water by the waiter.

(b) The glasses were filled with water by the waiter.

(c) The waiter was filled the glasses with waiter.

(d) The water were filled in the glasses by waiter.

10. He said to me. "There are ceremonies going on "
(Change into indirect speech)

(a) He told me that there were ceremonies going on.

(b) He told that there had been ceremonies going on

(c) He told that there have beén ceremonies-gaing on.

(d) He told that there are ceremonies going on.

11. I am writing a letter. (Identify the-tense)

(a) Past Simple (b) Present Simple (c) Past continuous (d) Present Continuous
12. The City of Troy was destroyed.................

(Choose the Correct Adverb).

(a) completely (b) eagerly (c) bitterly (d) humbly

13. His Speech left me............. (Use non-Finite Verb).

(a) to think  (b) thought (c) thinking (d) having thought

14. You....... read his latest book. (Use Modals)

(a) Can (b) Will (c) Should (d) Dare to

15. We.......... (hear) a terrifying news last night. (Use Past Simple Tense).

(@) hearing  (b) hear (c) heard (d) have heard

16. A man, whose hobby was........ met with an accident from the chapter' Bed number-29'.
(a) Dancing (b) Painting (c) Drawing (d) Playing

17. The character' Della’ belongs to which chapter.

(a) The Happy Prince (b) The Grief (c) A gift for Christmas(d) The War of Troy

18. Name the play written by William Shakespeare in English main course book of class X.

(a) The Jew of Malta (b) The Merchant of Venice

(c) Hamlet (d) The Bishop's Candlesticks

19. Who has written the story' How much land does a man need'?

(a) H.G. Wells (b) Tarig Rahman (c) R.K. Narayan (d) Leo Tolstoy

20. Who has written the poem 'Where the mind is without fear?

(a) Oscar Wilde (b) A.G. Gardiner

(c) Jawahar Lal Nehru (d) Rabindranath Tagore

Read the passage given below and answer the following questions (21-27)

Man does not live by food alone Water is vital to human health and fitness Although it is not a nutrient per
se as all carbohydrates , fats, vitamins and minerals . It, in fact is a key nutrient in as much as no life is
possible without it. Whereas we can do for weeks without food We cannot live without water longer than a
couple of days, Water approximates 60% the weight of human adults. The total amount of water in a man
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weighing 70kg is approx a little over 40 litres. It is an excellent solvent-more substances are soluble in
water than in any other liquid known so far. This makes it an ideal constituent of body fluids which sustain
life supporting chemical reactions. It

dissolves varied products of digestion and transport them to the rest of the body. Likewise, it dissolves
diverse metabolic wastes and helps drain them out of the body. Besides it perfumes a variety of functions
some well known and well understood while others not so well appreciated yet vital.

The no less important role of water is to distribute dissipate the body head efficiently, thereby regulating the
body's temperature. Water accomplishes this role ideal because it has thermal conductivity ensuring rapid
heat from part to the other. Above all, water has high specific heat implying that it takes a lot of heat to raise
the temperature of water. Drinking a lot of water is an inexpensive way to stay healthy, even excess of
water is harmless. Water therapy drinking a litre or so the first thing in the morning is kidney friendly. The
water regulation in the body is affected by

hypothalamus in two ways i.e.

(i) By creating the sensation of thirst which makes us drinking water.

(ii) By controlling the excretion of water and urine. If water regulation fails, medical emergency ensues.

21 The word 'ideal' means

(a) lazy (b) most suitable (c) valuable (d) good

22. Drinking a litre of water in the morning is called

(a) Hypothalamus (b) Water regulation (c) Kidney therapy (d) Water therapy

23 High Specific-heat of water means

(a) It has high thermal conductivity

( b) It takes less heat to raise its temperature

(c) It takes more heat to raise its temperature

(d) It distributes the body heat efficiently

24. Peter said that Geroge could not the........... (Chapter "The Grief)

(a) Walk (b)Study (c) Think (d) Play

25 The elder sister was marriedtoa ............ in chapter How Much Land Does a Man Need"?
(a) Peasant (b) Tradesman (c)Painter (d) Shopkeeper

26. Give the synonym of the word ‘physique'’

(A) Body (B)Mind (C) Hair (D), Crowd

27 Give the antonym of the word 'sacred'

(A) Holy (B) Blessed.. (C)Cursed (D)-Spiritual

28. To build castle in the air. (Tell the.meaning of the Proverb)
(A) One who comes first is served fist.

(B) Plans that have very little chance of happening

(C) The mind is its own place.

(D) Consequences of War

29. A person who examines. (Write one word Substitution)

(A) Calligraphy (B) Examiner (C) Executive (D) Feminist

30. The ship............ (sink) before help could reach. (Use Past Perfect Tense)

(A) Was sinking (B) Had been sinking (C) Had sunk (D) Is sinking
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31. 3 AHiagE T W3 &ff ger I7?

Degree of linear equation is:
(@1 (b) 0 (c) 2 (d)-1
32. foA B WSt AHiSTE X2 +7x+ 10 = 0 © Y& € 77 U393 :

Find the sum of roots of this quadrate equation x2 + 7x + 10 =0

(a)-7 (b) 7 (c) 10 (d) -10

33. (x+a) (x+b)- 8k= (k - 2)? ® Y& THIfIS W3 HI=I I, abceR, 3

The roots of (x+a) (x - b) -8k = (k-2)? are real and equal where a, b, c € R, then:
(@) atb=0 (b) a=b(c) k=-3 d k=0

34. HA.T (96, 404) Y3™ &I

Find H.C.F (96,404)

(a) 4 (b) 9696 (c) 101 (d)8

35. 7 a(@a+b)=36"3 ba+h)=64a,b>0 a-b THF U I :
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If a(a + b) = 36 and b(a + b) = 64, a,b>0 then a-b equals to:

(@) 2.8 (b) 3.2 (c)-2.8 (d)-2.5

36. T nid" T@M &M Aftmret 55 &5 3 A 96 ?

How many two digit number are divisible by 3?

(a) 30 (b) 29 (c)99 (d) oIt ST I sJt(none of these)
37. fegst &9 faadt Aftmir 240 © 5993 Wadh, 7 A v It =391 g Afgwr A= 2

Which of following number gives 240, when added to its own square?

(a) 15 (b) 16 (c) 18 (d) 20

38. A uee A & Hges - 3 3 HIS (AT ) uTad 2

If Probability of Event 'A'is = Find P (not A)

(a)-> (b)3 (©3 (d)¢

39. A 8 I <t Sadl, BFdl w3 el H='T 10m, 8m W3 6m J| foA & €3 T ¥3Jes THI

The length, breadth and height of a hall are 10m, 8m and 6m respectively. Find area of its ceiling.
(a) 80 (b) 48 (c) 160 (d) oIt iS5 I &t I(None of these)

40. HETE T I% U3 &q: 2x+ 3y = 7 x-y=1

Find solution of equations: 2x - 3y = 7, x-y=1
@x=2y=-1 (b)x=2y=1(c)x=1,y=2 (d)x=0y=-1
41. a2 w3t ggue yzT I3, fire fHed' © A3 w3 JE6es JHe9-3 3 2 3 :

Find the Quadratic Polynomial whose sum and product of roots are-3 and 2 respectively.
(@) x443x+2  (b)x2-3x+2 (c)x?-2x—3 (d)x®2+2x-3

42, igaifefsa &3t 7, 11, 15, 19, ... TS YT TR |
Find 9th term of A.P.7, 11, 15, 19..................
(a) 23 (b) 43 (c) 39 (d). fegst 35 I sJf(None of these)

43. (3,1), (6,4) Tt fegaras gt ysrad
Find distance between (3,1), (6,4)

(a) 3v2 (b) 5v2 (c) 2V2 (d) 672

44 g Tag e ... FAHI39 AYUTH A< J AGEMi &I
A circle can have......parallel tangents at the most.

(@2 (b) 1 (c) &3 Infinite(d) 0

45. x2+4x+4 by x + 2 &S 91 fe€, IIEB U3 IJ |
Divide x>+4x+4 by x+ 2. Find quotient.
(a) x+2 (b) 0 (c) 4x (d) fogst &5 A &t(None of these)
46. W3O A 4 A @8 9 93 © wigy foui 13 T ¥39e8 U™ 99, fAeT 3= 30° J |

Find area of sector of circle with radius 4cm and of Angle 30°.
(@) 46.1cm?2 (b) 4.19cm® (c) 0.56cm®  (d) None of these
47. fogst 9 fagdt wes © TUds & Ages &t J Ade! ?
Which of the following can't be probability of an event ?

(@) 0.6 (b) 2/3 (c)-2.5 (d)10%

48. 9 sec? A-9 tan’ A-9 T HS :
Value of 9 sec?2 A-9 tan? A-9 is

(@1 (b) 9 (c)0 (d)-9

49. AT wes forfos 3, 88 Tuds & Ag<a ot JI

What is the probability of sure event?

(@) 1 (b) 0 (c) -1 (d) fogst &5 A &t(None of these)
50. 7 sin A =3/5 3" cos A+sec A T HE :

If sinA=3/5, value of cos A+sec A is:
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(a) 41/20 (b) 20/41 (c) 40/41 (d) 21/40
51. K T B U3 a3 A &g A (2,3), B (4.K), C (6,3) A3l I5 |
Find value of K if points A (2, 3), B(4, K) C (6-3) are collinear.
(a)K=0 (b) K=1 (c) K-2 (d) fogsr &5 J€F &Ji(None of these)
52. p=q JEG T g&<c ot I-
Statement p=q has converse:
A)g »p (B g=p (©Cp =2q (d) & & &Jt(none of these)
53. gag e ffgw Iace Tdiaur g ........ FfJe IS |
Line intersecting a circle in 2 points is called a............
a) 8° " (Secant)  (b) AUIH SH(Tangent)(c) AIUH g (Point of Contact) (d) fedat &9 €t &Jf(None of
these)
54 U3Tddy=2x—2,y=4x - A A miegs Az ©
Check whether following pair of equations, y = 2x — 2 , y=4x-4 have:
(a) 3% &df I(None Solution) (b) f€ZHE I% J(Unique Solution)  (c) WERTES I% Ia(Infinitely Many
Solutions) (d) fega™ f&3 et &It (None of these)

55. 7 DE||BC 3t AC U3 a3 |
In fig. DE || BC, then AC=?

A
15 lcm
cm
D E
3
Cm
B C
(@2 (b) 3 (c) 4 (d) 10
tan75° v
56. cot150° <THS
tan75° .
Value of —=—is ) .
(@)1 (b) -1 (c) 0 (d) fogst &5 A sJf(None of these)

57. I & ufgnw Aftmret fod fogdt ufonw Hftmir @ TmSe YAd 713 767

Which of following Rational Number has Terminating decimal expansion?

(a) 13 (b) 19 (c) %7 (d) fegst ST It sJi(None of these)

58. AABC W3 ABDE © AHZH! f3gw frr Y9 g% fa D gAt BC T Hu g J | f33H AABC 3 ABDE ©
B3I T WHUI I |

AABC and ABDE are two equilateral triangles such that D is Mad point of BC . .Ratio of Areas of AABC
and ABDE is

(@21 (b)1: 2 (c)4:1 (d)1: 4

59. Hg T wife3& U™ 936 T H3J B9

Formula for calculating volume of cone is

(a) %anh (b) Tr2h (c) mrl (d) oIt feg At &f(None of these)

60 H.A.Z. (26, 91)x B.H.T. (26 ,91)

Find HCF (26, 91)x LCM (26 ,91)
(a) 117 (b) 2366 (c) 2388 (d) 182
61. AABC & AHgr f3gn I faAet 37 2a 3, for © 999 firda &9 <& dardl €A1
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AABC is an equilateral triangle of Side 2a , Find each of its altitudes

(a)av3 (b)3va () 2v3 (d) 3v2
62. frgst ST faodt © w3t mitegs &t I

Which of the following is not a Quadratic equation

(@) x2-3x-7 (b) x2+3x+1-(x-7)?  (c) x3-4x%-x+1-x3+11  (d)(x-2)%-81
63. f3&" dedt Yfedst © wus feg Asm:

The Empirical Relationship between 3 measure of Central Tendency
(€) 5984 = 3 Hfaar- 2 HoH& (Mode =3 Median-2 Mean)

(o) S8 = 3 Hftar +2 HOH's (Mode= 3 Median+ 2 Mean)

(8) 984 = 2 Hfgdr - 3 HOH'® (Mode =2 Median-3 Mean)

(A) S84 = 2Hf0ar +3 HOH'a (Mode= 2 Median+ 3 Mean)

64. 337 T U3des fare fidg (1, -1) (4, 6) W3 (-3, -5) I :

Area of Triangle whose vertices are (1.-1), (4-6) and (-3 ,-5) is

(a) 42 =41 fearemit square units  (b) 24 SIJ1 feargt square units () 12 <J4T feargMit square units
(d) €t 2 &I None of these

65. BRI gan 9 358, 1 i[9S, 2 3V =€ I3, Aag € gan K7 €9 e worad dfenr Arer J1 3 fer &
TS g & JE T AT U3 I

A box contains 3 Red , 4 White ,2 blue Marble if one Marble is drawn at Random then Probability of not
getting Red Marble,

()2 (b)3 (©)3 (d);

Science 2018

66. I fBfmit &9 fagzr ue farsel Agae e s AdEidmdl € gHEe |
Which of the following terms does not-represent electrical power in a current ?
(a) IR (b)IR? ©VI @)%

67. IUPAC name:

M T IUPAC &

(a)=F3HQuUa(Bromopropane)  (b) SIHEEG(Bromoethane)

(c) SSMHIES (Bromomethane)(d) feast i@ 3t < &dt (None of these)

68. ufegec € fed3s o8 Irags IEMEHES, Urel W3 §anT 2 < yf3fafanr aug<t 3 .

The breakdown of pyruvate to give carbon dioxide, water and energy takes place in:

(a) AFEICUSTHH f9(Cytoplasm)  (b) HEICT &3 fg (Mitochondria)
(c) SBIUBHC &9 (Chloroplast) (d) fS@ISMA €T (Nucleus)
69. € &l A fegaradl uat & § e I6 -

The gap between two neurons is called a:

(a) 3Ir8ie(Dendrite) (b) ATEISUHA (Synapse) () WA (Axon) (d) Wr=dT (Impulse)
70. II< AJAC AN AJac ST faAss g™ & H'&:

At the time of short circuit, the current in the circuit:
(a) 973 We I AT J(Reduces Substantially)

(b) ufgeaf33 &t ger J1 (Does not change)
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(c) Sg3 wiftd g A" J (Increases heavily)
(d) f6d39 ufgeaf33 der (Vary Continuously)
71. U391 3 9 der 3

The anther contains

(a) IS USMH(Sepals) (b) SHAWZ  (Ovules)

(c) feA3dt AAT (Carpels)  (d)uUgmT d€ (Pollen grains)

72. Sfdq1 AT 7 fifer Az T IAfefed & :

Chemical Name of Baking Soda is:

(a) A IEZIT6 d'9=&<(Sodium Hydrogen Carbonate)

(b) ASMMH Frg8&<E (Sodium Carbonate)

(c) A IBIHF (Sodium Chloride)

(d) RS AS3e (Sodium Sulphate)

73. 337 T wiofas wed3t Fras! & fan Widhvz &g ¥ 3 AR A o3<! g™ for geser I?

How do metallic character change in a period moving left to right in modern periodic table?
(a) SUe(Increases) (b) WieeT (Decrease)

(c) It sEB= &t (Dose not change) (d) ffget &8 et &t (None of the above)
74. I fEfemit &9 faggr der Ians 972

Which of the following is a plant hormone?

(a) EHES(Insulin) (b) B eI aHG (Thyroxin)
(c) BHeIT & (Oestrogen)  (d) AERRETEfSS (Cytokinin)
75. 50,8Q W3 120 Y3 & 56 Yot SFwd o K8 13 76| Hiouy T ufge Eiog us' 3 |

50,80 and 12Q resistance arescennected in.series. Find resultant.resistance of circuit?
(a) 25Q(b) 20Q(c) 13Q(d) 17Q
76. IS R Age 3q=g T &

Which acid is present in Ant Sting?
(a) HE& s 3T=(Methanoic Acid)  (b) WRRTEE 37 (Oxalic Acid)

(c) fAefas 3= (Citric Acid) (d) 3afed 3= (Lactic Acid)

77. v&d e < A9 forct B8 g e wiy 3 et gt €3 der 37

What is the far point of human eye with normal vision?

(a) 25 cm (b) W&3 Infinity (c) 25m (d) fege T 3=t &It None of these

78. 85 33 991 T gHaEd I3 X' I & JE F9 19K 996 &8 I Ia1 T I AT J Ifer I3 X T & SR

A shiny brown coloured element 'X' on heating in air becomes black in colour. Name the element gamma
ix!

(a). IUI(Copper) (b) ™EIGS ( Iron) (c)BHfEWH(AIuminum)  (d)aSHMmH(Calcium)
79. Ufonr &g TfesH T aH 3

The Xylem in plants are responsible for:

(a) uret e ufgefas(Transport of water)
(b) 37& = Ufg=fds (Transport of food)

(c) »oites 3" T Ufg=fas (Transport of amino acid)

(d) WaHIHS e Ufgefas (Transport of oxygen)

80. B €38 TIyUE & <A Tl M3 &3 fan & =937 wigd fawrm 32, AL I |

Find the focal length of a convex mirror whose radius of curvature is 32 cm.
(@) 16 cm (b) 16 m. (c) 16 mm (d) 64 cm
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81.g8" R ugr =t v Yang 3 fer3dl dAg © AfcanT a2 ufgefas §...... afde a5 |

.............. is transfer of potten grains from the anther of the stigma of a flower.

(a) Udrdre(Pollination) (b) feRT& (Fertilization)
(c) UdIgE (Germination) (d) TaTHH (Zygote)

82. fd8ze-=

| Kwh=

(@) 3.6x10°TS J  (b) 3.6x 10*4dBJ  (c) 3.6 x 10° TS J (d) 3.6x 10'TH J
83.f583%5 T'g ArgEs Wi I i T fafawre i B

Butanone is a four carbon compound with functional group:

(a) TIESBIHS 37 (Carboxylic acid) (b) WSS (Aldehyde)
(c)alted (Ketone) (d) WBATS (Alcohol)
84.ferm1 T fagzT 391 #dlg & AfES w3 H3ss § gord Juer I 2

Which part of brain maintain posture and equilibrium of body?

(a) ASIE®H  (Cerebellum)  (b) 333 (Medulla)
(c) ASTEIH (Cerebrum) (d) ¥ feHmaT (Mid-brain)
85. I ffipr 9 oot fom ©F Tedt sEgml T g ads B8 @331 At J 2

Which one of the following types of medicine is uses for treating indigestion?

(a) W= fe@3d(Antibiotic)  (b) WarSAfHA (Analgesic)
(c) WiemlfAz (Antacid ) (d) wIEAufed (Antiseptiec)
86.95 f&fimr 9 faaar v&y S8 Her Heo Yt e 3a1 &dt J 2

Which of the following is not.a part of female reproductive system_ in human being?

(a) WigaH(Ovary) (b) AdE =fet/ (Vasdeferens)
(c) IIFFAT (Uterus) (d)@3umis T8 (Rallopiamtube)
87.29-fenct 2n fad sla dizr Aer I 2

How is hypermetropia corrected?
(a) W38 B8&H &5 (Using concave lens)

(b) €38 ©9UzT && (Using convex mirror)
(c) €35 3&d & (using convex lens)
(dWE3H TIUE &'F (Using concave mirror)
88.8 ¥ € 3 U T3 A '3 W3 w3 & mHmidn A afJe I
An ... is homogeneous mixture of two or more metals, or a metal and a non metal.
(a) ufsA(Mineral)  (b) gt T3(Ore)  (c) 91 (Gangue)  (d) HEI3 T3 (Alloy)
89.fan famsd oor T i, 3=t Adia ez © nieg ggat 839

The magnetic filed inside a long straight solenoid carrying current.

(a) F9 Je J(is zero)

(b) o B A3 <5 7 &% Wewr J(decreases as we move towards its end)
(c) TR S SF A= B Tue" J | (increases as we move towards its end)
(d) A3 ¥t @3 S)9=g der J | (is the same at all points)

90. I35 &8 IAfefed fSfanr ST BYalgs I8 TAg & U od |

Identify the substance that is reduced in the following reaction
CuO(s)+H2(g) — 5 CuO+H20(l)
(a) CuO (b) Cu (c) H,O (d) H2

91. I& 3 e oIz 37w B3t T fEare JIT Is
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Which of the following constitute a food chain?
(a) W, I=d W3 " (Grass, Wheat and Mango)

(b)Wd, &3 »3 HEY (Grass, Goat and Human)

(c) Siadt, I w3 I (Goat, Cow and Elephant)

(d)wrg, Het w3 g4t (Grass, Fish and Goat)

92. 2 ¥t 23F T TB fan we3s Bod T HES ot J= |

The power lens a concave lens of focal length 2m will

(a) 0.5D (b) -2.0D (c) +2.0D (d) +0.5D

93. O3 1 IHI B IUH'S 3 3IS Jer
Metal which is liquid at room temperature:

(a) AZMH(Sodium) (b) ABHMM (Calcium)
(c) Haadt/uaT (Mercury)  (d) aud(Copper)
L. farsE Tar der 596 <t fe@3 § Ffde Iw:

The device used for producing electric current is called.
(a) AGISI(Generater) (b) FB2sHIET (Galvanometer)

(c) whified (Ammeter) (d) He9 (Motor)

95.fra W5 Wiz  fEd & 5 gafr &5 fafonr 393 o I der aget 3, , 7 g5 < uret § e a9 e
305 e Age 3 -

Solution reacts with crushed egg to give a gas that turns 1 lime water milky. It contains

(a) NaCl (b) HCI (c) Li€l (d) KCI

96 . mfeaes det enrar forre/ge8s T TIHS .

Hormone secreted/made by Thyroid gland:

(a) Efeg A& (Thyroxine) (b)) BHES (Insulin)
(c) W3J& s (Adrenalin)  (d) fegst feg Jeh &t (None of them)
97. I Bt milage § yar faa

Complete the following reactions:

AIH + uEl ) Ha(Q)

Sodium +water —hl(Q)

(a) RZMH(Sodium oxide)  (b)AFMH IEZITHEI (Sodium hydroxide)

(c) ASMYH IEZITEI (Sodium hydride) (d) AZMH I&IE3 (Sodium Chloride)
98.H&H f9 gae fod 339 y=r&dt & 991 9% A Hafus 3

The Kidney in human beings are a part of the system
(a) UFa(nutrition) (b) Arg-fIfanrr ( respiration)

(c) HS-f3na1 (Excretion) (d) Ufg=fds (transportation)
99.3& fftmr &5 fagz g€ Uq @I & AS3 adt T |

Which of the following in not an example of bioma energy source?
(a) FF(Wood) (b) =T IH (Gobar Gas)

(c) fs8=®MIg @3+ (Nuclear Energy) (d) Urghnf™ (Cow-Dung Cake)
100. 05 & WEHST :

Molecular formula of propane:
(a) CoH4 (b) C2oH: (c) CoHe (d) CsHs
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